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(W) Do as directed for giving or selecting a correct answer /921l YHIGl ALAL wcllol LU AUl

(Ascu Urie 52A. (Any five /9 A i) (5)

1. layer is connected with the hardware in the computer system. / AaR A
s12feUL sl§AR WA Ws1AA sl B.

(a) User layer

(b) Hardware layer

(c) Register layer

(d) Operating system layer

2. Which of the following is not true for the operating system. / 30ulol Reueil Aeelul o1 Aotl
Higll so ey ol

(a) It manages devices of the computers
(b) It manages files

(c) It manages processes

(d) It manages network systems

3. is the symbol to redirect errors into some file. / __ Ruld A AR redirect 52 B.

4. block is having bootstrap operating system. / JAlAS ugldut oclls OLC'QU.
RAuclHl A B.

5. is state of process when it is executing system calls. / e s\ 26t 5l auad
WA™S] Re au B.

6. Which of the following command can change ownership of the file? / o{lAottHiell 520 sHLeS

ownership oled 8.

(a) Chmod
(b) Chgrep
(c) Chown
(d) None of the given
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Us — 1.

(61) Explain in brief./ gsHl ocllol AU, (Any Two/QlA A Q) (4)
1) Define characteristics of the file system. / $LE&E Rien.ll C‘ll&l@SdRﬂ %Qllcn.

2) Define layers of the operating system. / ULAS Ugldotl Qar uustal.

3) How Unix operating system is handling its devices? / ?:10{15%4-11 Slaugsy ¢ dld aua B.

Us — 1.
(5) QR Yds wclot WW. (Any One/ N A As) (6)
1) Explain transition of user mode to kernel mode with an example.
YR HlsHiel solcdt Msul U transition AUl
2) Explain fields of in-core inode. / in-core inode all [%C*S ETRILY 1N

us — 2.
(1) Do as directed for giving or selecting a correct answer /43l YHIGQL AU ol AU (5)
wdl [@Ascu Uie 5. (Any five /o1 A UiRL)

1. is passive entity stored on disk for executable file and is active entity.
Executable $L6E HI2 do] uBaA w3aU B al Ao ulBA a3u

8.

2. To provide speed equivalent to register memory used in the memory hierarchy. /
el unse wls Aaaal we AN ysauul wa 8.

(a) Associate memory
(b) Main memory
(c) Cache memory
(d) Secondary memory

is the actual name of Inode. / Inodes] ¥y} oll{ .
4. Which of the following algorithm will provide new inode in the file system?
(a) iget
(b) iput
(c) ialloc
(d) alloc
5. will decide the execution of the next process. / A sd 56 WAA

ol YN QA otssl 52 B wal CPU R 10 B.

(a) Swaaper
(b) Init

(¢) Scheduler
(d) Mounting

6. Inode number cannot have value 0. (True/False)
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U — 2.

(61) Explain in brief./ gsHl ocllol AU, (Any Two/QlA A Q) (4)
1) Explain the table of content in unix operating system. [RUA B § Soeoe ANl

2) Explain the directory structure of a file system in unix operating system./ 2;10{15-2-1-[1 (33523l wsAR
ALl

3) Explain conversion of path name into a inode./ W&l Hiell inode o 3UlcR TRILT N

U — 2.
() [@QclR ydls cllol WU (Any one/ X A As) (6)
1) Write about the operations can apply on the file.
sl GUR Udl uRaetell uAl s
2) How a file is created in the environment. Explain with the Use file descriptor, file table and inode

table. / SIS 56 A (BAe wA & A Use file descriptor, file table ¥al inode table 1L AH%L.

sl — 3.
(W) Do as directed for giving or selecting a correct answer /M5l YHIQl AL wcllet 3l (5)

vl [Aseu ude 5. (Any five /9N A UiA)
1) is the set of all logical addresses generated by a program.
AYsE AJU AU ol AYe 3 B WILH gl dAR scUML A B Ad

sdcllal.

a) Text area

b) Data area

¢) Stack area

d) None of given

2) is used to convert logical address to physical address. Al%YSE VJUA $lllsc
BIUHL 3ULdR s2al auRpA B.

3) Which of the following is not a process operation?

o(lAMA 53 sl vluRAet ol

a) allocate

b) attach
c) load
d) creat
4) IF 10MB process ( executable file) transferred to swap on hard disk with transfer rate of SMB/sec
then transferred time is ms

%l WAA(l A3 10MB Sl Ul swap SlalfU BUR 2leUsR scll 5MB/sec oll

»su ms L2l

(a) 2

(b) 200

(c) 2000000

(d) None of given
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5) When a required block is not in memory then it is called
(a) Data error
(b) Block error
(c) Page fault
(d) None of given
6) When process’s parent id is 1 then the process is called process.
(a) Zombie
(b) Preempted
(c) Orphan
(d) None of given
U — 3.
(1) Explain the given term with an example. / ool UE GEIEQL UHSLA. (Any Two/ AN A &) (4)
1) Explain the different state of the process. / WAl YEL-YEL e yuendl.
2) Explain context switch of the process. / WIAMHL context switch XLl
3) Explain virtual address to physical address conversion for a process block. / Virtual address ol

physical address Hi (lECllel 58 A w2A B A yHesl.

usl - 3.

(5) QR Yds wclot WA, (Any One/ N A As) (6)
1) Explain sleep of the process. / sleep of the process ¥MsLcl.

2) Explain fork system call. / fork system call Al

st — 4.
() Do as directed for giving or selecting a correct answer /920l YHIQL ULA Lol WML (5)
wal [Ascu ue 5. (Any five /91 A URL)

1. Command is used to put mutual exclusion. / mutual exclusion glRL YscllHl

uld 8.

2. Which of the following process is needed to access a device. / (LAl 58 WA slausSd Anelall

duRA 8.

a) Mounting
b) Booting
c) swapping
d) scheduling
3. Kernel is the core part of operating system. / Kernel Ales ugldall 812 et

8.

(a) Unix

(b) VAX-VMS

(c) Windows

(d) None of given

4. Process execution is done in round robin fashion. (True/False).
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5. Which of the following command is used to invoke another program from the current program. s

Yo HHEY ollel Vo 26t sal M2 ol Al 520 sHIeS duRpAA D,
(a) exec

(b) pipe
(c) dup
(d) None of given

6. is the parent of all process in the system. / B ETE parent of all process B.
(a) Swapper

(b) Scheduler
(c) Init
(d) None of Given
U — 4.
(61) Explain the given terms. o{lQoill UE GEIEWL UHNIA. (Any Two /A d Q) (4)
1) Explain about signal Handling. / signal Handling TRIC RN
2) Explain about preempted process. / preempted process UH ¥l dl.
3) Explain sharing of text region after fork() command. / sharing of text region after fork() command

ETRILY 1N

ysl — 4.
(5) Explain in details. / (AR Yds oscllel 3. (Any one /0 A As) (6)

1) write a program to generate child process and take care that child will not converted as a orphan

pI‘OCCSS.
ASTES YWAX olotlaladl HIZoll YAUH AUl Aol A Aelld of ool doll st Al

2) Explain about scheduler Process. / scheduler Process TRILA 1N
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